Regents Exam Questions F.TF.B.6: Domain and Range
Page 1
www.jmap.org




Name: __________________________________
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Which value of x is not in the domain of the function defined by [image: image1.png]y = tanx



?
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In which interval of [image: image6.png]f(x) = cos(x)



 is the inverse also a function?
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Which statement regarding the inverse function is true?

	1)
	A domain of [image: image11.png]


 is [image: image12.png]


.

	2)
	The range of [image: image13.png]


 is [image: image14.png]


.

	3)
	A domain of [image: image15.png]


 is [image: image16.png]


.

	4)
	The range of [image: image17.png]


 is [image: image18.png][0, =]



.
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The function [image: image19.png]f{x) = tanx



 is defined in such a way that [image: image20.png]£
(x)



 is a function.  What can be the domain of [image: image21.png]


?
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When the inverse of [image: image26.png]


 is sketched, its domain is
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	[image: image27.png]-1 8<1
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